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AnsWér all questions

Time : one hour

e St’rin-g is in equilibrium under the action of the external force F'

length. With the usual notation, show that

E*‘EZQ-

that it is equivalent to

n



2. If S and M are shearing force and bending momentum respectively at a point
of uniformly loaded beam, then prove that

ds s d* M
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where w is the weight per unit length of the beam.

State the Bernoulli-Fuler law of flexture.
A slightly flexible rod of length 2a has one of the ends clamped horizontally.

A support is placed under the middle point of the rod so that the free end is

1 3
21;[)/;_ where B is the flexural rigidity of the rod and W is the weight of the

6
rod. Show also that the pressure on the support is —?




